

# A Search on Integral Solutions to the Non-Homogeneous Ternary Cubic Equation

$$a x^2 + b y^2 = (a + b) z^3, a, b > 0$$

**Dr. J. Shanthi<sup>1\*</sup> and Dr. M. A. Gopalan<sup>2</sup>**

Assistant Professor, Department of Mathematics<sup>1</sup>

Professor, Department of Mathematics<sup>2</sup>

Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy, Tamil Nadu, India

shanthitharshi@gmail.com and mayilgopalan@gmail.com

**Abstract:** Patterns of non-zero integer solutions to the non-homogeneous ternary cubic equation  $a x^2 + b y^2 = (a + b) z^3, a, b > 0$ . Some fascinating relations between the solutions are presented

**Keywords:** Non-homogeneous cubic, Ternary cubic, Integer solutions

## I. INTRODUCTION

It is quite obvious that cubic Diophantine equations are plenty. In this context, one may refer [1-16]. While analyzing problems on third degree Diophantine equations with three unknowns, the article presented in [17] came to our reference. The authors of [17] presented only two patterns of solutions in integers. Albeit tacitly, there are other choices of fascinating integer solutions to the cubic equation with three unknowns considered in [17]. The main thrust of this paper is to obtain the new choices of integer solutions. A few relations between the solutions are presented.

## II. METHODOLOGY

The non-homogeneous ternary cubic equation under consideration is

$$a x^2 + b y^2 = (a + b) z^3 \quad (1)$$

To start with, it is observed by scrutiny that (1) is satisfied by

$$x = (m \mp b n) z,$$

$$y = (m \pm a n) z,$$

$$z = m^2 + a b n^2$$

and

$$x = (m \mp b n) (m^2 + a b n^2) (a + b)^3,$$

$$y = (m \pm a n) (m^2 + a b n^2) (a + b)^3,$$

$$z = (m^2 + a b n^2) (a + b)^2.$$

However, there are many more choices of integer solutions to (1).

The process of obtaining other choices of integer solutions to (1) are as below:

Choice 1

The option

$$x = k y \quad (2)$$

in (1) gives

$$(a k^2 + b) y^2 = (a + b) z^3$$

which is satisfied by

$$\begin{aligned} y &= (a k^2 + b) (a + b)^2 \alpha^{3s}, \\ z &= (a k^2 + b)(a + b) \alpha^{2s}, \alpha > 1, s \geq 0 \end{aligned} \tag{3}$$

From (2), one has

$$x = k(a k^2 + b) (a + b)^2 \alpha^{3s} \tag{4}$$

Thus, (3) and (4) satisfy (1).

Choice 2

The option

$$y = k x \tag{5}$$

in (1) gives

$$(a + b k^2) x^2 = (a + b) z^3$$

which is satisfied by

$$\begin{aligned} x &= (a + b k^2)(a + b)^2 \alpha^{3s} \\ z &= (a + b k^2) (a + b) \alpha^{2s} \end{aligned} \tag{6}$$

From (5), one has

$$y = k(a + b k^2) (a + b)^2 \alpha^{3s} \tag{7}$$

Thus, (6) and (7) satisfy (1).

Choice 3

The substitution

$$x = z - b T, y = z + a T \tag{8}$$

in (1) leads to

$$a b T^2 = z^2 (z - 1)$$

which is satisfied by

$$\begin{aligned} z &= 1 + a b s^2, \\ T &= s (1 + a b s^2). \end{aligned} \tag{9}$$

From (8), one has

$$\begin{aligned} x &= (1 + a b s^2)(1 - b s), \\ y &= (1 + a b s^2) (1 + a s). \end{aligned} \tag{10}$$

Thus, the values of  $x, y, z$  given by (9) and (10) satisfy (1).

Observations

- i.  $a x + b y = (a + b) z$
- ii.  $a s x - y + z^2 = 0$
- iii.  $b s y + x - z^2 = 0$

Note 1

In addition to (8), one may also consider the substitution

$$x = z + b T, y = z - a T$$

For this option, the corresponding integer solutions to (1) are given by

$$\begin{aligned}x &= (1 + a b s^2)(1 + b s), \\y &= (1 + a b s^2)(1 - a s), \\z &= (1 + a b s^2).\end{aligned}$$

Choice 4

The substitution of the transformations

$$x = X - b z, y = X + a z \tag{11}$$

in (1) leads to the non-homogeneous quintic equation

$$X^2 = z^2 (z - a b) \tag{12}$$

After performing some algebra, it is seen that the values of  $z, X$  satisfying (12) are given by

$$\begin{aligned}z &= z_n = a b + (s + n)^2, \\X &= X_n = (a b + (s + n)^2)(s + n)\end{aligned} \tag{13}$$

From (11), it is obtained that

$$\begin{aligned}x_n &= (a b + (s + n)^2)(s + n - b), \\y_n &= (a b + (s + n)^2)(s + n + a).\end{aligned} \tag{14}$$

Thus, the values of  $x, y, z$  given by (13) and (14) satisfy (1).

Observations

- i.  $y_n - x_n = (a + b) z_n$
- ii.  $(b y_n + a x_n)^2 = (z_n - a b)(y_n - x_n)^2$
- iii.  $(x_n + b z_n)^2 = (y_n - a z_n)^2 = z_n^2 (z_n - a b)$
- iv.  $(y_n - x_n)^2 [(x_n + b z_n)^2] = (y_n - x_n)^2 [(y_n - a z_n)^2] = (b y_n + a x_n)^2 z_n^2$

Note 2

In addition to (11), one may also consider the substitution

$$x = X + b z, y = X - a z$$

For this option, the corresponding integer solutions to (1) are given by

$$\begin{aligned}x_n &= (a b + (s + n)^2)(s + n + b), \\y_n &= (a b + (s + n)^2)(s + n - a), \\z_n &= (a b + (s + n)^2)\end{aligned}$$

### III. CONCLUSION

In this paper, we have presented integer solutions to the cubic equation in title which are different from the solutions given in [17]. As the cubic equations are plenty, one may search for other forms to cubic equations to determine their solutions in integers utilizing substitution technique and factorization method.

### REFERENCES

- [1]. L.E. Dickson, History of Theory of Numbers, Vol.2, Chelsea Publishing Company, New York, 1952. <https://archive.org/details/historyoftheoryo01dick/page/n1/mode/2up>

- [2]. L.J. Mordell, Diophantine equations, Academic press, New York, 1969. Diophantine Equations. By L. J. Mordell. Pp. 312. 1969. 90s. (Academic Press, London & New York.) | The Mathematical Gazette | Cambridge Core
- [3]. S. Vidhyalakshmi, M.A. Gopalan, S. AarthiThangam, "On the ternary cubic Diophantine equation  $4(x^2 + x) + 5(y^2 + 2y) = -6 + 14z^3$  " International Journal of Innovative Research and Review (IJRR), Vol 2(3),pp 34-39, July-Sep 2014.  
<https://www.cibtech.org/J-Innovative-Research-Review/Publications/2014/Vol-2-No-3/IJRR-02-03-CONTENT.htm>
- [4]. E.Premalatha, M.A.Gopalan "On the cubic equation with four unknowns  $x^3 + y^3 = 13zw^2$ ", International Journal of Advances in Engineering and Management (IJAEM) Volume 2, Issue 2, 2020 pp: 31-41.  
[https://ijaem.net/issue\\_dcp/On%20Homogeneous%20Cubic%20Equation%20with%20Four%20Unknowns.pdf](https://ijaem.net/issue_dcp/On%20Homogeneous%20Cubic%20Equation%20with%20Four%20Unknowns.pdf)
- [5]. M.A. Gopalan, N. Thiruniraiselvi and V. Kiruthika, "On the ternary cubic diophantine equation  $7x^2 - 4y^2 = 3z^3$  ", IJRSR, Vol.6, Issue-9, Sep-2015, 6197-6199.  
<https://recentscientific.com/sites/default/files/3379.pdf>
- [6]. M.A. Gopalan, N. Thiruniraiselvi and Sridevi, On the ternary cubic equation  $5(x^2 + y^2) - 8xy = 74(k^2 + s^2)z^3$ , International Journal of Multidisciplinary Research and Modern Engineering, Vol.1 (1), Pp.317-319, 2015.  
<https://rdmodernresearch.org/wp-content/uploads/2015/10/46.pdf>
- [7]. E.Premalatha, J.Shanthi, M.A.Gopalan On Non - Homogeneous Cubic Equation With Four Unknowns  $(x^2 + y^2) + 4(35z^2 - 4 - 35w^2) = 6xyz$ , Vol.14, Issue 5, March 2021, 126-129.  
[https://bbrc.in/wp-content/uploads/2021/05/BBRC\\_Vol\\_14\\_No\\_05\\_Special-Issue\\_24.pdf](https://bbrc.in/wp-content/uploads/2021/05/BBRC_Vol_14_No_05_Special-Issue_24.pdf)
- [8]. N. Thiruniraiselvi, M.A. Gopalan, A Search on Integer solutions to non-homogeneous Ternary Equation  $9(x^2 - y^2) + x + y = 4z^3$ , Epra International Journal Of Multidisciplinary Research (Ijmr) - Peer Reviewed Journal, Vol.7, Issue 9, September 2021, Pg-15- 18.  
<https://eprajournals.com/IJMR/article/5814/abstract>
- [9]. N. Thiruniraiselvi, M.A. Gopalan, Binary Third degree Diophantine Equation  $5(x - y)^3 = 8xy$ , Oriental Journal of Physical Sciences, Vol.09(1) , Pg.1-4, 2024.  
<https://www.orientaljphysicalsciences.org/vol9no1/binary-third-degree-diophantine-equation-5-x-y-3-8xy/>
- [10]. N. Thiruniraiselvi, Sharadha Kumar, M.A. Gopalan, Non-homogeneous Binary Cubic Equation  $a(x - y)^3 = 8bxy$ , Pure and Applied Mathematics Journal, Vol.8(11), Pg 166-191, 2024.  
<https://stm.bookpi.org/RUMCS-V8/article/view/14904>  
<https://doi.org/10.9734/bpi/rumcs/v8/529>
- [11]. N. Thiruniraiselvi, M.A. Gopalan, A New Class of Integer Solutions to Homogeneous Cubic Equation with Four Unknowns  $x^3 + y^3 = 42zw^2$ , International Journal of Applied Sciences and Mathematical Theory (IJASMT), Vol. 10(2), Pg 1-7, 2024.  
<https://www.iiardjournals.org/journal/?j=IJASMT>
- [12]. DOI: <https://doi.org/10.56201/ijasmt.v10.no2.2024.pg1.7>
- [13]. Shanthi, J., and M. A. Gopalan. "A Portrayal of Integer Solutions to Non-homogeneous Ternary Cubic Diophantine Equation." IRJEDT , Vol 5(9),192-200,(2023).  
<https://www.irjweb.com/A%20Portrayal%20of%20Integer%20Solutions%20to%20Non-homogeneous.pdf>
- [14]. Vidhyalakshmi, S., and M. A. Gopalan. "On Finding Integer Solutions to Non-homogeneous Ternary Cubic Equation  $[x^2 + xy + y^2 = (m^2 + 3n^2)z^3]$ ." Journal of Advanced Education and Sciences 2.4 28-31, 2022.

- <https://dzarc.com/education/article/view/166>
- [15]. Vidhyalakshmi, S., Shanthi, J., Hema, K., & Gopalan, M. A. "Observation on the paper entitled Integral Solution of the homogeneous ternary cubic equation  $x^3 + y^3 = 52(x + y)z^2$ ". EPRA IJMR, 8(2), 266-273, 2022.  
<https://eprajournals.com/IJMR/article/6653>
- [16]. Vidhyalakshmi S, Gopalan MA, General form of integral solutions to the ternary non-homogeneous cubic equation  $y^2 + Dx^2 = az^3$ , IJRPR, 2022; 3(9):1776-1781.  
<https://ijrpr.com/uploads/V3ISSUE9/IJRPR7147.pdf>
- [17]. Dr. P. Jamuna Devi, Dr. K. S. Araththi, On Solving Cubic Equation  $x^3 + y^3 = 7(z - w)^2(z + w)$ , Advances in Nonlinear Variational Inequalities, Vol 27(2), Pg 328-332, 2024.  
<https://internationalpubls.com/index.php/anvi/article/view/969>
- [18]. S.Vidhyalakshmi.,T.R.Usharani., M.A.Gopalan, , Integral solutions of non-homogeneous ternary cubic equation  $ax^2 + by^2 = (a + b)z^3$ ,  $a, b > 0$ , Diophantus Journal of Mathematics, vol.2, No:1, 31-38, (2013).